T0vT

ZT'9T raxw/ gAd tHowad ummAna |
8LT NdKn3 niAuog
97'9 091 BUNEENIMIA M £08199
190 oJls
€71 undoinddal endogk
7911 anHewdaro)
0S'IZ [-ax-w/'gAd) 'h'1L 8 BUHRMBWOU OJOVM¥K BuHEKDAT0D
£9°IPS ¥E - SEVL9 0F L5'668 ST CL'E6T  -| L¥VL980F = S8°99/ 61 auHarasLooog
0T IS V1 & 6E'9TL 9T ELTELOT 96'SS -| SECLL9T - vv'6Cs 8 29X
ST'EVT ¢8 - YOIbE €6 0T'T19 LS vCT¢9 -| 8P796 €6 i TTETY 9 241
C¢C'86E S6T = 0E'EV6 THE 9T'£L6E 292 - 0E'EV6 TrE - 80'¢S8 STT SWHarLUoL0
LLELBTE 08°01S 6 86°EVE 9E = 08°01S 6% = S6°908 6T 1Howad uiaHareLuuey
i i 00'0vC 9 i o 0J7a exuLdoHIenT
00'00S T 19L0ged a1I9Haratmdawenodivare
00'00S T LnTAeoldaHe
VE'V6S €9 C0°68Y LTT 00°0vZ 6 18'TZS 80T i CE'EDB EVT PE'ZS0CST -| E€8TIE LT 1Howad uumAxa ]
8E'S0T - vLTI8T LT'BET = vLI8T = 819 29X MOD
65'vvL - €S9 1 80'8t6 ¢S79t T = ST0EY 20494 oD
9¢'E9C g 59'9/8 LY'EEY 96’1 69'vLS - 80°0¢T €EE NOD
TE98LE - YP'oCE S SE906 ¥ = ¥P'97E S = CC'99E € [oX)if:]
LT'9LT 22 95696 S L L06 ET ¥L'L06 €T 99°9E7 0t - E6'STR IV - 06'99S 0T 09l
¢9'E00 2L TL6L 6L ¥ TS 69'88¢ 19 9Lv0T €6 - CT'908 TCT SE'CS0 S -| 9Teot v auHedaro)
GE068 S 68°00E ¢ 8T'VES ¥ 8T'6IT 9 ¥9°9LT 8 = r'eTL 0T SL6SET -| LSPSEE exdogg
¥1°0£0 00T ST'0SE 8 18°988 08 TL STy v6 90°8TS TET & LY'VIE VLT 0TIV L -| ELECT LS *h'1 8 aUHBRKAIT0)
SI0Z'CT'IE 8I0Z'ZT'IE auroJArou g | suifosAuvou T OHB3hELUQ 19 OHILOUhEH 8T0Z'I0'T0 8I0Z'T0'TO BH
EH BUHBUBIEH eH oaue) 1ahoedadsyy BH OFaue) |BMHBWBIEH MivoYf
wivof 109ed OHaHVOURg
VEvL 8102 9 wigndagQ day aoxauudAnny

SN 2uHawoumd]

,IM9dadrgOLED L, OVE HA
21013dD XIGHKIHIY MMHIKMET O 13h10 YOogOTOl




